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Consider the situation shown in figure. Calculate 
(a) the acceleration of the 1.0 kg blocks.  
(b) the tension in the string connecting 
the 1.0 kg blocks and  
(c) the tension in the string attached to 0.50 kg. 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PROBLEM 02 SOLUTION 02
The tension in the string in figure is 16 N 
and the acceleration of each block is 0.5

, Find the friction coefficients at the 
two contacts with the block.
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The friction coefficient between the table 
and the block shown in the figure, is 0.2. 
Find the tensions in the two strings: 
 

PROBLEM 03 SOLUTION 03
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The friction coefficient between the board and 
the floor shown in figure is μ. Find the maximum 
force that the man can exert on the rope so 
that the board does not slip on the floor.  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